B.com | Year Annual Examination,
Commerce — Il
Business Statistics (C-102)
Practice Set - |
[Time: 3Hrs] [M.M. : 100]
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g g, Sah g ym g | daftcg arr e § | @Wvs - 9, 9, 5, vd 5 (faga s v )
Tk | &l TH & | TP @US & Toh U Hhifory | faegd Iav srafea g |
This is paper is divided into five Sections — A, B, C, D, & E Section — A ( Short Answer
Questions ) contains one question of ten parts requiring short answer . all these ten
parts one compulsory . Sections —B, C, D, & E (Descriptive Answer questions) each
contains two questions. Attempt one question from each Section. Answer must be
descriptive.

Qusg — 37 (SECTION - A)
39 U B o UH & g 9T & oY Uf&d & | U N1 4 Sk AT § |
This Section contains one question of ten parts requiring short answer. Each part
carries 4 marks.

1. (I) af&r= 0.64Ta P.E(r) =0.1312 g af N T AT ATd & |
If r=0.64 and P.E(r) = 0.1313, find the valut of N .
(1)  forwwar 9&a komeHe gl & |

Skevness is always negative.

(1) T ARt SEET 10 a9 Fi @afy & 150 Ao @ geax 212 At &7 13|
g <hl TOMR & F1d & |
The population of a city has increased from 150 milion to 212 million during
a operiod of 10 years . find the geometric rate of growth.
(IV) & ffoat geat & A gase |
Give the name of positional averages.
(V)  ofadf ach I 39 71 9934 § ?
Wht do you mean by frequency curve ?
(VI) Tffepeor Ug OROfia # 9 IS |
Differentiate between classification and tabulation.
(VI) afEx+225,Z=225aqu1g =8.15, dt fawHaT I1d & |
If x =225,7Z=225,0 =8.157 find Skewness.
(VIIl)  Tiedh @ o & |
Define statistics.
(IX) =1 gt § faTaR ¢a 34T TUTich AT Y |
Calculate range and its coefficient from the following data
20,8,10,0-20,-10,4
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(X) e gt Sof o argef Sf & oRafia a1 |

Convert the following inclusive series into excusive series.

Class interval 0-10 10 - 20 20 - 30 30 - 40 40 - 50
Frequency 5 1 15 8 7
gus-9 (SECTION-B)
2. f=fdha groft e oten & gifRrdt & ura si! gRT faendf & smadf seq ot grfdt & |
Shows the frequency distribution of students by marks obtained in statistics at an
examination.
Marks 0-10 10 - 20 20 - 30 30 -40 40 - 50
No of
students 44 8 20 12 6
ST e IR 9Rof § fAe Ffear urg w8

|On scrutiny the following mistakes of tabulation were revealed.

Student A B C D
Correct marks 42 18 32 5
Tabulated marks | 35 28 22 15

grRuft GMifed hifSie da arer urddie 19 e |

Revise the table and find out mean marks.
Or/31yar

3. 3ufhwor @ MU T gHeId & ? s fl T fd e e M fdm g2 ag wmar @

fraguarR a8 |

What do you mean by dispersion ? what are the method of computing dispersion ?

how doesit difter from skewness ?
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4.

@us-g (SECTION-C)

U UTSAehH hed alet &l BT 7 A3 8ieh urd fohd | F19 hifSiw & fora® aifdres gt € |

Two students offering the same course obtain the following marks find who is more

consistent:
A 58 59 60 65 66 52 75 61 46 48
B 56 87 89 46 93 65 44 54 78 68
Or/3ryar
5. {1 g¥en! § A1e U9 Fgeieh 1d A |
Calculate mean and mode from the from following data :
Less than | Less than 24 and 40 and 48 and
Wages 8 16 8-24 above 32-40 above above
No.of 8 12 29 31 8 19 5
person
@us-¢ ( SECTION-D)
6 . = at Adsnia & A Soft ot st ik B Aot ot vvmet =0 & fRRtefa dhifsia
Splice tha following two index series , series A forward and series b back words:
Year 2000 2001 2002 2003 2004 2005
Section A 100 130 150 - - -
Section B - - 100 110 140 150
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7. 3= gHat @ Fife Tggre= ot I Al |

Or/3tyar

Calculate the coefficient of rank correlation from the following data :

X 48 33 40 30 16 16 65 24 16 57
y 13 13 24 6 15 4 20 6 6 19
@ug — 3 (SECTIONE)
8 . Bavfa =« v grr &Y veardf Iuafa Jeu I1d &
Find out the secular trande by three yearly moving average :

Year 1997 1998 1999 2000 2001 2002 2003 2004 2005 2006
Annual

9 7 7 9 11 10 8 8 10 12
value

Or/3ryar

9. Grfecdh & il dUT HgT ohl gUE |

Describe the functions and importances of statistics.
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